A= SEJI=¥ A Z2XEAA
M IR UES |4 25
BHel: 2N ASES |4 & Mils &7

AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
2 AP A 1,711,380 1,272,338 439,042
s 165,000
= 1,546,380
2 AES sS4 B2 1,285,859 1,036,040 249,819
s 165,000
& 1,120,859
2SS =4 2 MHdls o7 724,019 719,477 4,542
s 165,000
& 559,019
ZA REXE 22| L AIES 54 107,278 98,621 8,657
101 21| 75,168 66,737 8,431
M IRIMNZ2ENSES 75,168 66,737 8,431
OEHQIR 60, 140
OZFQIZ(HIIZ2E) 4,633
OYERE=S 10,395
202 odd| 6,650 6,424 226
01 =LH4 b 6,650 6,424 226
LR AZE 4 7 = 4,000
O3%& 2Kl 2,000
OZ22% 2SMSEAL E#H K& 650
207 A0 25,460 25,460
03 Al& 2| 25,460 25,460
O=4&AN, s, Hlg S 25,460
A AES SAMN Y B30 g 105, 168 97,409 7,759
101 2124 H| 75,168 66,737 8,431
M IRIMZ2ENSEs 75,168 66,737 8,431
OEFEQIL 60, 140
ORFQIZ(HIIZ2E) 4,633
OYERE=S 10,395
202 o4b| 3,000 3,672 ABT2
01 =i b 3,000 3,672 ABT2
OSSN A5 F& 3,000
207 AR 27,000 27,000
03 AlE 2| 27,000 27,000
OME, sXtM, Hlg & 27,000
2 DEE MA Do 89,944 82,406 7,538
101 el244| 69,304 61,094 8,210
M IRINZ2ENSES 69,304 61,094 8,210
(OETSgtil 69,304
202 o4d| 3,000 3,672 ABT2
01 =i b 3,000 3,672 ABT2
OANF MAD|= AR F=& 3,000
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A NES 54 53
2 AEE |4 & Wil o7 (CH M)
2. 24 - BB O(B) - NIRAIY - BAS Ofl ko i fimE==t
207 AR 17,640 17,640
03 AlE 2| 17,640 17,640
O=&AY, =X, HIZ2 S 17,640
2 ZFS SEHEN B2l 91,629 83,041 8,588
101 eI244| 54,189 45,571 8,618
M IItH22sSEs 54,189 45,571 8,618
OZFQIF 40,389
OEAECIL(EI2Z) 6,732
OHERE3S 7,068
201 Ler23A| 720 720
01 AtR2teltl 720 720
OHRFE AIRES S 720
202 Ob| 1,500 1,530 A30
01 =WHO4HI 1,500 1,530 A30
oE=al gRFH 1,500
207 AR 35,220 35,220
03 Al&l 2| 35,220 35,220
OoblolelAs ZH=EE S 35,220
KNS ESESISHL () (=1) 330,000 258,000 72,000
s 165,000
= 165,000
101 eI244| 237,000 128,031 108,969
s 118,500
= 118,500
M IRINZ2ENSES 237,000 128,031 108,969
OZFQF 201,942
s 100,971
& 100,971
OEACIR(EHIZ2Z) 4,488
s 2,244
& 2,244
OHERYEZ S 30,570
s 15,285
== 15,285
201 LEr2AH| 2,000 12,569 A 10,569
s 1,000
& 1,000
01 AtR2teld 2,000 12,569 10,569
oOARES 2 2,000
s 1,000
& 1,000
202 04| 3,000 29,400 AN26,400
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=o1)|& = A
AN MBS B4 23
AT AES S8 L DS @

U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
[ 1,500
= 1,500
01 SLHOIHI 3,000 29,400 26,400
OMNE=N & HREo 3,000
= 1,500
S 1,500
207 AIHE 88,000 88,000 0
= 44,000
[ 44,000
03 AIE 32| 88,000 88,000 0
oOsNHM s 7 88,000
[ 44,000
= 44,000
D™ ASHS H7 212,640 184,363 28,277
DENE ZJYH Y AP 83,600 78,630 4,970
101 el24b] 71,600 66,630 4,970
M IRINZZ2NHSES 71,600 66,630 4,970
OXEFIF 71,600
202 O 3,000 3,000
01 =LA 3,000 3,000
OLYXE Sbttst AT =8 3,000
207 A=1IHE 9,000 9,000
03 AlE & =2t| 9,000 9,000
O3, g, =<, sAl & 9,000
L ASHS WS & S5 M 31,520 27,096 4,424
101 el24b] 23,900 19,876 4,024
M IRIRZZ2NSE S 23,900 19,876 4,024
OXFIL 23,900
202 O 1,620 1,620
01 =LA 1,620 1,620
OUEFz= WS & SRE=s g=2F4 1,620
207 AIHE 6,000 5,600 400
03 AlE & =2H| 6,000 5,600 400
O=SEHL, o4& & 224 s S 6,000
DX Hi= QM A DIEIHE 97,520 78,637 18,883
101 el24d] 71,600 52,717 18,883
M JIRZ2Z2NHSES 71,600 52,717 18,883
OXEFIF 71,600
201 LEr2E | 4,000 4,000
01 At22telH| 4,000 4,000
OSXZEHE Xz X MEES S 4,000
202 04| 1,920 1,920 0
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= sgJl=sd A Z2XEAA

M AT MBS |4 23

S tes 5o
BHel DY ASEHS A (Gt ®2)
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
01 2LHOIHI 1,920 1,920 0
OQLUAYH= ARHR =& 1,920
207 S| 20,000 20,000
03 Alg 32| 20,000 20,000
OHlg, s, 4882 S 20,000
AL 3g 2 349,200 132,200 217,000
AL E BEEAE 2E2c 122,200 122,200 0
201 23| 122,200 122,200 0
01 AtR2telH] 7,200 7,200 0
OFEARZZlE 2378 & = 7,200
02 S5=2g4l 115,000 115,000 0
0Z332= E MAl 73,000
OAIZ&EHl |XIH 10,000
OXE=Al 2 12,000
OFAM & FHEAE AZH| 20,000
EAL SHASIN oi Al - 281 SAH & AIRS2 2l2 187,000 0 187,000
clz|
201 get=2a| 6,000 0 6,000
01 AlR2telbl 6,000 0 6,000
OQIHUAOIE OISEX S 6,000
401 A2 HIXL SOHH| 181,000 0 181,000
01 AlZH] 180,000 0 180,000
OXH ol - 28ISAH & AIRS2e|2EdE 180,000
03 A& THYI 1,000 0 1,000
Ol 1,000
BAMAIE 2Zz2e| (28X 2Y) 30,000 0 30,000
405 AHaHE SH 30,000 0 30,000
01 At ESF =4I 30,000 0 30,000
O4gs=t 7Y 30,000
g HsSAtcel 2 (2R 10,000 0 10,000
405 KHoHE =4I 10,000 0 10,000
01 MMM ESFSHI 10,000 0 10,000
OXEE NSAtLE 10,000
HY2IGH (LA ) 425,521 236,298 189,223
el 2| 394,639 211,036 183,603
EPAE=1uEe 394,639 211,036 183,603
101 el2b] 364,263 189,780 164,483
03 SR (RINH) 222+ 354,263 189,780 164,483
oJlZs 237,913
Ol=1=; 2,202,803 9 123 237,913
o=+=g 116,350
od2=¢ 2,202, 8003 9 x30%22] 11,8%
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[l
3
OF
uJ

-

HwE

19,120

35,252

5,620
5,740
3,703

3,703

1,197
1,197

840
240

600

N 120
A 120
A120

dHEC
Ol &42H

21,256
5,124

25,262
18,182
9,342

8,842

500

5,320
5,320

3,520

520

3,000

7,080
7,080
7,080

Ofl &8

15,120
10,800
23,792

6,720

3,360

37,908

10,114
40,376
40,376
40,376

15,084

7,068
3,190
30,882
23,922

13,045
12,545
12,545

500
500
6,517
6,517
6,517
4,360

760

760
3,600
3,600
6,960
6,960
6,960
6,960

R

- SR1(3) - HIRAHY

29438

A
=

140,0003 x0H 122

100,000 x0E 122

3

Jtdl

ok
R
80

2,202, 8903 *60%+9H 2

40,0003 7S * 123

-t <Xt

THXHA)

A

IHE(

3

o0
I+

20,0003 +6H~ 122

(SMXH)

=

3

o0
I+

60,0003 x2& » 128
20,000 28 » 128

17,5503 x99 20A| 2H+ 123

93,6403+ x 12

R0

il

80
0H
T

01 AtR2telt]

At22te|]

30
O

I+

30
0B
[0
[0

30
0B
[0
M0

80
0H
x

202 OH|

01 =LA LI

0= A

=LHObI

30
0B

KJ
KF
ok
ol

KJ
KF
aoF
al

02 &0t

40,0003 %19

R
KF
aF
&l
80
0k
T

-

300,000& x 122

30
0H

<N

01 AFS2t2ltl

.

00
e

Kl
oll

il

0o

Jl=2&d|
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